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AEl 22X £ (kwWm / PS)
2dH (rpm)
A48 H| A
12M26D902E201 (1800) 820 (1115) 902 (1226)
12M26D792E200 (1500) 720 (979) 792 (1077)
£ Ho|
Bl A2 £ (PRP) H| & 22 (ESP)
7t F Azt 2| 200 A|ZF o|8}

24 N2+ & 70% O[5t

24 N2+ 2 70% O[5t

Azt 25 A[Zt 0|3}

Z|CH 25 2F AlZH 217t 500 A|Zt O]t A7t 25 AlZt O[5t
12 AZHE 1 Azt
aR5E =A (10% 2+&3}) 18=s

1) M 32 1SO 30460] =3tct,
) ANE 7|1F . 92 Uz 084 kg/L, O &= 30%, 7|2 100 kPa, S 37| & 25 °C
3) AT JtE =4 Dk 1000m, S 37| 2k 30°C O|5to|M &3 27 213, 0| O[&0A= & 300m &S A| OHC 3%,
J2|n g8 371 22 11°C §5A| OfCt 2% ¥ =32 g
452 MEE GRAS, Y244 HE U AT Y HEE Ao TS TEY S J|F2R S0, ujE2| X &
QE|UO[E], U2t 3 U MY AteF 52 TSR] =
BE MY
12M26D902E201
QIR 2 el MEIH  HE 5 12 /48
= 12M26D792E200 =EH/e=T /
Bore / Stroke (mm) 150 x 150 HY 212 (L) 31.8
HE BAFA|AHE J|AA iz HT 57| gHA 27| & 37| HZ7]
2 =H| 15.5: 1 HiZ| Hi= 7|1& EU Stage |l
X4 (L x W x H) (mm) 2,615 x 1,525 x 1,760 U= T (kg) 2,910
A ALZ| (°CA 50HZ : 18 - 19 60HZ : 21 - 22
s2t01g 14 SAE NO.0/ 18 7|0f ot =~ 178
20| 2ek AAL "= 10/ 10
ZCH 518 BX Z= (0
Z ask AL /2 22.5 /225
518 7| 2= (°Q) -10 ~ 50 AFE X3t 1= (m) 2,000
HZE e 22 (mm) (87| ¥E :0.3+0.03) / (H|7] ¥E : 0.4+0.03)
«=> O}L}E]O|M] 1 DSCE (F) R4 HE
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45 Rtz
50HZ 60HZ 50HZ 60HZ 50HZ 60HZ
223} 3| ™4 (rpm) 700 - 750 MHEHE SHA 2T (rpm) 1725 2070
B LAE 5 (m/s) 7.5 9 BMEP (MPa) 1.811 1.719
ORE OF (kw) Wzt A A O (kw) 28 40
g2ol2 =3 (kw) A=z 2AH[E (9/kW.h) g 422 (L/h)
110% 792 902 199.2 2104 187.8 2259
100% 720 820 197.1 208.3 168.9 203.3
90% 648 738 196.1 2094 151.3 184.0
80% 576 656 196.7 2101 1349 164.1
70% 504 574 202.3 2121 121.4 144.9
60% 432 492 207.2 2143 106.6 125.5
50% 360 410 2145 248.5 91.9 121.3
40% 288 328 245.2 2815 84.1 109.9
30% 216 246 299.7 3253 771 95.3
20% 144 164 310.6 335.2 53.2 654
10% 72 82 320.1 340.2 274 332
*HlEs He 23 (Brake Mean Effective Pressure) : BMEP
* 08 AH|E (Specific Fuel Consumption) : SFC
27| S 50HZ 60HZ
437 Y7 229 7|
sol - ~ 22058 25 Kt
SBSIERIS (0 e xue w25 AT <
M3t nzof g F)
A g HE <3
371 o7 2 M (kPa)
nE U HA TN <5
g4 &8 4,070 5,112
A F7| | (kg/h)
Hld =8 4,334 5,344
&71 o1V BE (%) >99.5%
Y 37189 =8 A4 HF (mm) 140
«Z> O}L}E|O|M| 2 DSCE (F)EMHH &MY
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